[ Efficiency vs vertpos |

- 0.2
20.18F
g o
>‘0.16_—
U -
_50.14_—
O

£0.12

0.

0.08
0.06
0.04
0.02

il

IR RALERAL A RERERERE

Ratio

0.95 : :
1072 107 1

1.0

=
T T3

5

10 0
TP vertr (cr%)

2

—— DQM_TT__CKF_ORIG

Efficiend —— DQM_TT_CKFandPLess ORIG
ICleNd __,__ pQM_TT__CKFandPLess_MODIF

~ 0.1 . T
e s s S
0 . . . . .

L { ------- e

el

£0.06F -
o E : ;
0.05F - ﬁ

0.04F -+ ------- l
0.03F 5otk
s N SR
oot gl
Vel

Ratio

0.95!

4

...................

H
I
i
¥
.

~ 0.1
>
0.0.09

E

50.08
20.07
>

20.0
(]

£0.05

[J]
0.04
0.03

0.0

0.0

Ratio

0521510 -5 0 5 10 15 20

FRVS)

10 20 30

4

6]

2

0

Sim. PV z (cm)




	Contents
	Page 1


